What word problem could fit this picture?



EYFS/Yr1

There are a total of 6 cups of water in the
watering can added by Mrs Pitt and Mrs
Small. How many cups did Mrs Small and
Mrs Pitt add each?

Yr2 +

Mrs Woodruffe adds two lots of water to her
watering can - which total 3 litres - What
could the 2 different amounts be? Could you
write the 2 amounts as a fraction or
percentage too?



The
perimeter o
the fence is
25m what
could each

side
measure?
Could the
width be ha
the length?




The tree is over 4m in height - Do you agree? Give your
reasons...







